UBE 501
DISCRETE MATHEMATICS  Fall 2014
Questions #2
1) Use set builder notation to give a description of each of these sets.

a) {0, 3, 6, 9, 12} 
b) {-3, -2, -1, 0, 1, 2, 3}
c)  {m, n, o, p}
2) Find two sets A and B such that A
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3) Can you conclude that A=B if A and B are two sets with the same power set?
4) Prove the complement laws in Table 1 (“Kenneth H. Rosen, Discrete Mathematics and Its Applications, 6th ed., McGraw Hill, 2007, page 124.”) by showing that
a) 
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5) Prove the first De Morgan law in Table 1 by showing that if A and B are sets, then 
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a) by showing each side is a subset of the other side.

b) using a membership table.

6) If A, B, C, and D are sets, does it follow that
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7) Prove or disprove: A  (B  C)  (A  B)  (A  C).
8) Prove that A  (B  C)  (A  B)  (A  C) by giving a proof using logical equivalence.

9) Prove that A  (B  C)  (A  B)  (A  C) by giving an element table proof.

10) Prove that A  (B  C)  (A  B)  (A  C) by giving a containment proof (that is, prove that the left side is a subset of the right side and that the right side is a subset of the left side).

11) Prove that A  (B  C)  (A  B)  (A  C) by giving a Venn diagram proof.
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